


EXPLODED VIEW: EV BATTERY ACSRY D2.5L G2     

DRAWING #: 10000019362  GROUP C 

 
ITEM PART# QTY. DESCRIPTION 

REVISION: CN-0013294-C  Page 2 of 2 

DATE: 2/8/18 

 1 050331A 1 BATT POST COVER RED + 
 2 G050331 1 BATT POST COVER BLK – 
 3 038804U 1 CABLE BATT RED #1 X 28.00 
 4 G058665 1(REF) BATT 12VDC 90-AH 27F 
 5 10000011438 1 ST03 BATTERY TRAY D2.5L 15KW 
 6 038805J 1 CABLE BATT BLK #1 X 30.00 NEG 
 7 G042568 2 SCREW HHC M6-1.0 X 20 C8.8 
 8 G022473 4 WASHER FLAT 1/4-M6 ZINC 
 9 G022097 2 WASHER LOCK M6-1/4 
 10 G049813 2 NUT HEX M6-1.0 G8 CLEAR ZINC 
 11 G022145 1 WASHER FLAT 5/16-M8 ZINC 
 12 G022129 1 WASHER LOCK M8-5/16 
 13 G039253 1 SCREW HHC M8-1.25 X 20 C8.8 
 14 G027482 1 WASHER LOCK EXT 5/16 STL 
 15 0J3501 1 STRAP BATTERY 1.5X36" 
  


